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B 52 K £ 1 2 | GROSS | HDGP NET JIE {2 K £ 1 2 | GROSS | HDGCP NET JIE {2 K £ 1 2 | GROSS | HDCP NET
1% FE EBEi* 47 148 95 24.0 71.0 b1 5E EziE 48 140 88 12.0 76.0 101 Bih B 50 | 54 104 24.0 80.0

2% (v aym) | KE 37 139 76 4.8 11.2 52 E RS 42 | 46 88 12.0 76.0 102 Z Ik 45 | 46 91 10. 8 80.2
3k Rl B 44 138 82 10.8 71.2 53 WX Ez 50 |44 94 18.0 76.0 103 FH =X 47 143 90 9.6 80.4
4 miE ® 40 |42 82 10. 8 11.2 54 e = 45 |48 93 16. 8 76.2 104 INGE B 54 |47 101 20.4 80.6
5% nE B 44 140 84 12.0 712.0 b5 wmE B 45 |48 93 16. 8 16.2 105 AR {E— 57 62 119 38.4 80.6
6 K& RE 42 142 84 12.0 72.0 56 A [MEx 59 |46 105 28.8 76.2 106 BE FBE 57 |55 112 31.2 80.8
T mH =8 46 |44 90 18.0 712.0 57 TRk & 41 139 80 3.6 16.4 107 #0O EfE 58 |50 108 26.4 81.6
8 I+t HHE 47 147 94 21.6 12. 4 58 WH BE 43 |43 86 9.6 76.4 108 IEH & 57 | 51 108 26.4 81.6
9 Z=H =% 49 |43 92 19.2 12.8 59 INR X b5 [ 43 98 21.6 16.4 109 R F5h 54 147 101 19.2 81.8
10% WA BiEX 48 143 91 18.0 73.0 60 % Falll &EA 51 [ 47 98 21.6 76. 4 110% KA BB 50 | 47 97 14. 4 82.6
11 #A = 48 |43 91 18.0 713.0 61 ki EiF 53 |57 110 33.6 16.4 111 BE EB 51 |52 103 20.4 82.6
12 S - 46 |44 90 16. 8 13.2 62 PEER 49 |48 97 20.4 76.6 112 i =5 45 |58 103 20.4 82.6
13 O —i# 51 |45 96 22.8 13.2 63 &H IEZ b5 148 103 26.4 76.6 113 kg 173 52 | 57 109 26.4 82.6
14 oE EfT 41 142 83 9.6 713.4 64 PEE ¥ 51 [ 45 96 19.2 76.8 114 W HE 55 |56 111 27.6 83.4
15 BA =i 44 144 88 14.4 713.6 65 2EH B 46 | 47 93 15.6 11.4 115 ® - 52 |50 102 18.0 84.0
16 AR Bk 51 149 100 26.4 73.6 66 T A 45 |48 93 15.6 17.4 116 XER & 58 | 66 124 40.0 84.0
17 2H HEF 39 (42 81 1.2 713.8 67 I X 43 |50 93 15.6 11.4 117 BB & 61 |57 118 33.6 84.4
18 TH EiE 44 149 93 19.2 73.8 68 X&E A 48 |51 99 21.6 17.4 118 R B 56 |50 106 20.4 85.6
19 W+ %Nz 58 |53 111 31.2 713.8 69 A BAE 50 |42 92 14. 4 11.6 119 EE [ 55 |53 108 21.6 86.4
20% Z2H £ 49 |43 92 18.0 74.0 70% XA RE 47 |51 98 20. 4 77.6 120% BA BO 55 | 58 113 25.2 87.8
21 Il R 50 | 54 104 30.0 74.0 T BF =X 44 |54 98 20.4 11.6 121 ZF B 63 | 65 128 40.0 88.0
22 2 BEX 44 | 41 85 10. 8 74.2 12 A Fnk 57 |53 110 32.4 77.6 1225 (8B) |(HUE BRI 60 |57 117 28.8 88.2
23 e HHE 42 143 85 10.8 14.2 13 HH 22— 52 |51 103 25.2 11.8 123 &l EBEX 67 |74 141 40.0 | 101.0
24 BH B 43 148 91 16.8 74.2 74 AR =2 46 |44 90 12.0 78.0
25 oE s 48 143 91 16.8 14.2 75 WE HE 49 | 47 96 18.0 78.0
26 AE oI 48 149 97 22.8 74.2 76 BH i 53 |55 108 30.0 78.0
21 ) E— 48 |55 103 28.8 14.2 71 mA  Foe 57 |57 114 36.0 78.0
28 B #2%k 42 142 84 9.6 74. 4 78 FAR & 47 |48 95 16. 8 78.2
29 il = 46 |44 90 15.6 14. 4 79 R #FX 49 |52 101 22.8 78.2
30% h+t &7 48 |48 96 21.6 74. 4 80% B A3 54 [ 53 107 28.8 78. 2
31 n#E —% 46 |50 96 21.6 14. 4 81 aH FE 56 |51 107 28.8 78.2
32 FL BEH 51 145 96 21.6 74. 4 82 BF HEHERX 57 |56 113 34.8 78.2
33 m&x 1FC 52 |55 107 32.4 74.6 83 ® A—Ef 45 |43 88 9.6 18.4
34 EH HE 45 143 88 13.2 74.8 84 B BEF 50 |50 100 21.6 78. 4
35 WX & 44 144 88 13.2 74.8 85 =i HBA| 44 |56 100 21.6 78. 4
36 FE T 46 (42 88 13.2 74.8 86 FIR HKIE 53 |53 106 27.6 78. 4
37 @A (g 43 138 81 6.0 75.0 87 ER Ot 52 |54 106 27.6 78. 4
38 hH Rt 51 (42 93 18.0 75.0 88 i (3] 58 |60 118 39.6 78. 4
39 =l B 45 148 93 18.0 75.0 89 KIE B 52 | 47 99 20.4 78.6
40% Rl 43 143 86 10. 8 75.2 904 KET ®E 55 | 56 111 32. 4 78.6
41 X =B 46 |40 86 10.8 715.2 91 iR Fia 47 |45 92 13.2 78.8
42 = 58 |52 110 34.8 75.2 92 Fil BF 60 |56 116 37.2 78.8
43 ik EZ 41 144 85 9.6 715.4 93 FHE # 51 |46 97 18.0 79.0
44 TR Eth 46 |45 91 15.6 75. 4 94 O FEH 49 |54 103 24.0 79.0
45 Wik L= 45 145 90 14. 4 75.6 95 hE  {E 54 |55 109 30.0 79.0
46 =8 43 |46 89 13.2 75.8 96 —K IR 48 | 46 94 14. 4 79.6
47 By FEX 48 | 41 89 13.2 75.8 97 EE T 54 |45 99 19.2 79.8
48 hiil FiE 42 4] 89 13.2 75.8 98 FH AT 51 |54 105 25.2 79.8
49 BRE % 44 |51 95 19.2 75.8 99 Bl KEF 59 |52 111 31.2 79.8
50% INEF BBE 51 [50 101 25.2 75.8 100% Bl EE 50 [48 98 18.0 80.0
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